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Name ______________________________

Geo A Chapter 4   

 




Hour ______

______  1.  What postulate or theorem would you use to prove (ABC ( (FED?
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______  2.  What information is needed to prove that (WXZ ( (YXZ  by the SAS Congruence Postulate?
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______  3.  What postulate or theorem would you use to prove (ABC ( (FEC?
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______  4.  What postulate or theorem would you use to prove (GHI ( (JKL
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______  5.  What postulate or theorem would you use to prove (MNO ( (PQR
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______  6.  What postulate or theorem would you use to prove (OML ( (OMN?
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______  7.  State the third congruence that is needed to prove that (DEF= (MNO given that 
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and 
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using the SAS Congruence Postulate.  
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______  8.  State the third congruence that is needed to prove that (DEF= (MNO given that 
[image: image3.wmf]ON

FE

@

and 
[image: image4.wmf]O

F

Ð

@

Ð

using the AAS Congruence Theorem.  
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______  9.  State the third congruence that is needed to prove that (DEF= (MNO given that 
[image: image5.wmf]ON

FE

@

and 
[image: image6.wmf]O

F

Ð

@

Ð

using the ASA Congruence Postulate.  
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______  10.  Which of these statements could NOT be the third congruence that is needed to prove that (ABC ( (XYZ given that 
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using the AAS Congruence Postulate? 
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______  11.  State the third congruence that is needed to prove that (ABC ( (XYZ given that 
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using the ASA Congruence Postulate.  
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______  12.  State the third congruence that is needed to prove that (ABC ( (XYZ given that 
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using the SAS Congruence Postulate.  
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______  13.  What theorem or postulate would you use to prove that the triangles are congruent? 
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______  14.  What theorem or postulate would you use to prove that the triangles are congruent? 
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______  15.  What theorem or postulate would you use to prove that the triangles are congruent? 
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______  16.  What theorem or postulate would you use to prove that the triangles are congruent? 
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______  17.  Find the value of x + y. 
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______  18.  Find the length of a side. 
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______  19.  Find the measure of the vertex angle. 
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______  20.  Find the perimeter of the triangle. 


A.  ASA


B.  AAS


C.  SAS


D.  SSS


E.  HL


F.  None of the above.





A.  � EMBED Equation.3  ���


B.  � EMBED Equation.3  ���


C.  � EMBED Equation.3  ���


D.  None of the above.





A.  ASA


B.  AAS


C.  SAS


D.  SSS


E.  HL


F.  None of the above.
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D.  None of the above.








A.  ASA


B.  AAS


C.  SAS


D.  SSS


E.  HL


F.  None of the above.





A.  ASA


B.  AAS


C.  SAS


D.  SSS


E.  HL


F.  None of the above.





A.  ASA


B.  AAS


C.  SAS


D.  SSS


E.  HL


F.  None of the above.





A.  ASA


B.  AAS


C.  SAS


D.  SSS


E.  HL


F.  None of the above.





A.  10


B.  71


C.  81


D.  109


E.  None of the above.





A.  4


B.  11


C.  33


D.  None of the above.





A.  25


B.  52


C.  76


D.  None of the above.





A.  2


B.  6


C.  8


D.  28


E.  None of the above.
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